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R -E-E P
Hu: oD YRS BATA T
SEHSEEETE (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
201 Y2 bl 4,420 3,420 1,000
2 2,210 1,710 500
Al 2,210 1,710 500
01 AR 22l 4,420 3,420 1,000
OJBAEE 28 £& 3F 4,420,000 4,420 3,420 1,000
2 2,210 1,710 500
AlHI 2,210 1,710 500
BH2Y NG L SAFH B3 2el 1,269,737 247,436 1,022,301
2 159,400 0 159,400
| 79,618 79,618 0
Al 625,284 26,535 598, 749
2 405,435 141,283 264, 152
AHDUEHY ALY ST2E 163,460 22,111 141,349
Al 163,460 22,111 141,349
201 Yer2 2| 23,460 22,111 1,349
Al 23,460 22,111 1,349
01 AR 22l 17,616 16,267 1,349
OGHBLIHY A2 2T 22
23 16,116,002 6,116 15,267 849
Al 16,116 15,267 849
OB L ST 1,500 1,000 500
SR T AF 1,000,000 1,000 500 500
Al 1,000 500 500
401 A4l 2 = CH | 140,000 0 140,000
Al 140,000 0 140,000
01 A&l 140,000 0 140,000
AHDLHYAAY 25 140,000, 000%! 140,000 0 140,000
Al 140,000 0 140,000
GBS YL BIWLKS N 240,000 0 240,000
Al 200,000 0 200,000
Xt 40,000 0 40,000
402 212 X201 & 240,000 0 240,000
Al 200,000 0 200,000
2 40,000 0 40,000
NIEES T S 240,000 0 240,000
O U HEYL SAMLXZ UL
240,000, 0002 240,000 0 240,000
Al 200,000 0 200,000
2 40,000 0 40,000
=2 TSAL 22 1,606 7,620 3,986
201 Yer 2 bl 1,606 7,620 3,986
01 A2 22l 11,426 7,440 3,986
OZicg TSAL 22 1,240 7,240 4,000
CANESIEs S Z & 9,000,000& 9,000 5,000 4,000
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SN SAMY
M oob) JWRE BHZA RS
Cel: BHY KT L T A=Y 2 22 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
OSZNERS2 DA (MAE) 11,237 12,486 A1,249
S==2(PET Z&) DM HME
23X 5,051,000 5,051 6,300 A1,249
02 B2 ZH] 29,315 32,572 N3,257
OSZANERYZ DN 2 QE2 (M=
) 29,315 32,572 N3,257
CEHD|E UsteE2 23X 17,143,000 17,143 20,400 N3,257
2SI HHEIHA 22l 6,801 7,312 A5
201 LEr2 | 6,801 7,312 A5
01 At 22l H| 4,011 4,312 A 301
O2#I HSIHA S (GIAEY) 1,906 2,050 A144
S=XH X 23X 1,356,0008 1,356 1,500 A 144
OXNEXR3® HEEA OHLHEXIE HZH(0A
=2 A 232,000 232 250 A18
OS2I HISIHA HUZAH(HAED) 1,843 1,982 A 139
DXAN =82 Tf Y
23 811,000 811 950 A 139
02 B22Y9H| 2,790 3,000 2210
OS2 HHEIMA HLUAAMN BEHE DXA S
g QQEI(0MEY) A 2,790,000 2,790 3,000 2210
et HAS 20| S2AMHA ALY 10,000 0 10,000
AlH] 10,000 0 10,000
307 @I2+0l & 10,000 0 10,000
AlH] 10,000 0 10,000
05 QIZtRIE S 10,000 0 10,000
OFAHE MSEHNS MU AAY
10,000,000 10,000 0 10,000
AlH] 10,000 0 10,000
% sY0lE Hel AL 365,800 0 365,800
2 158,400 0 158,400
AlH] 207,400 0 207,400
403 ARSI S X201 & 365,800 0 365,800
2 158,400 0 158,400
AlH] 207,400 0 207,400
02 ZII 2SO CHEHCHEE AL I 365,800 0 365,800
OL® ZY0lE Hel I 365,800,000 365,800 0 365,800
2 158,400 0 158,400
AlH] 207,400 0 207,400
MAA == Sa 29,125 30,033 A908
2 5,891 5,891 0
AlH] 2,800 2,800 0
2| 20,434 21,342 A 908
MAA KT 29,125 30,033 A908
2 5,891 5,891 0
AlH] 2,800 2,800 0
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PN BAAMY
M HHE2IZH (2L A4
¢l =gl (chel & 9l)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
OJlzge=8 2l (MaEY)
23 10,511,000& 10,511 11,088 VaNYA 4
405 RHoHF S HI 2,627 3,000 A373
01 AL EZFH S 2,627 3,000 A373
QWL WA (oadE2) 2 2,627,000 2,627 3,000 A373
MHees(sHZ<4) 207,693 0 207,693
EdXE 207,693 0 207,693
SZRMD FAHEXEZ BHE 3 207,693 0 207,693
802 BHEt = JIEF 207,693 0 207,693
01 2NE2x3eeE=a 83,703 0 83,703
OIS AEE 25 8483 8,000& 8 0 8
OL% ZdI0OIE Ml X3(0lA 268,2803 I
&) 82,964,000& 82,964 0 82,964
OZdIOIE HE2 AEHEZA(O0IA 70,6703 I
&) 571,000 571 0 571
O0oegol JIsAa3 dg2eld &3 160,000 160 0 160
02 Al - EHIEXZSEHEZ 123,990 0 123,990
OB AEE 258 430X 47,7209 ZLE)
55,000 55 0 55
OYLFHILIHE AIAE X 22 164,000 164 0 164
OZ23=+2 EHM &% 1,531,000& 1,531 0 1,531
OL% £dI0lE ™Mel XI&(0lXt 445,690 =
&) 120,956,000 120,956 0 120,956
O &d ALER0 L2 MEIA AL (01X 2,6
303 ZF) 169,000 169 0 169
O4+H Xed &2 &XI(0l X 235,000
g 955,000 955 0 955
O0gol JIsAas dg2eld g3 160,000 160 0 160
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